ZK-R502H 2.0 /=& TPA3116D2 50Wx2
RESRETIET SRR

Wuzhi Audio APP T & — 453

Wuzhi Audio APP download

TPA3116D2 %%‘%{E&E‘E :H
5OW+50W L A= X FE SN IN N

BEZF | AUX | U | USB
1 TERA#ER! R

1/20



H3x

ZK-R502H 2.0 7=31& TPA3116D2 50Wx2 BESZ AT EFE

RNy SR T
= SRR 2
T AR BB R e e e 4
B TEIIRIE ..o 5
FEERARAENZE e 6
[Tl USRS 7
it 2 1 - -SSR 8
[T -5 GO 9
B TR e 10
o e A== X -1 RPN 11

2/20



1. FRNER

eI ERE

BS | R302 R502E

Z#FWuzhi Audio APP

N TPA o TPA Er= TPA
vy =z 3118 R 3116D2 R 3116D2
::I

% N B F5. 1+AUX+UE+USBE £

:‘Lé_ — N \

%'& S{EEIE2.05 8 2. 1EEHESE
n=xR

ta 30W+30W | 50W+50W | 50W+50W 50W+50W+100W

%?E 9-24V/>3A | 9-24V/23A | 9-24V/>3A | 9-24V/>7A | 9-24V/>TA

EBC | 10-50W 10-50W 10-50W | ZAFIE 15-50W, 4-8Q
WO\ | 4-8Q 4-8Q 4-80 £ 30-100W, 4-80

ZIaeieH, 0EXLRFE, HTEBFRIET.

ﬂ§ BE: BR/EE Wi W (B /UR/AUX)
K18 : FF/%H ek : BATBEERN

RiP S8, W, 5, HRaR

R~ [81*81*34mm|81+81*34mm|81+81+34mm |81+81+37mm |81+81+37mm

2B
126 127 130 129 150
(BE%) g g d g 9

3/20



FRIERKT

DA 4T @O0 C 2 L oTAbR

< Wuzhi Audio APP

" 7-;:\\—:;:3 g i s

g i Biuetooth Wuzhi Audio @

‘ oliés —MI;ZS :E:EEIT—SAPF’E?E bluetooth code m S

S K@D T e —

“W I‘)) Id Beep Volume

{ ?M Clossical S an ﬁ| sl e
’B e 8 A APPT[iE B8R RE

| W Indicator brightness

D044V zQee0 DEED LY

bluetooth code

Shake and cut the song

|

\

|

|

|
& a @ Disconnect Device
Lt Locat 150

I

R RiFERE, IRENEEESL, BEESNREREHEFRERBEE
28, BNoJgESFMES 2R,

4/20



3. IEHIRENSB

hesHIRIENT 4R

SOW+50W
ZK-R502H

8 UO0E )
0N/ OFF 10

VOLUME

8 Nictis ki t,

® PAUSE Hi: BR/EE
® e MODE  Wir: &1 (JEF. UE. AUX)

emme ON/OFF Ki%: KZ1#F/ XN

5/20



rramATs

LCRRBE, SakR

6/20



5. FFamIEE

INEEN
NN
, (5.5x2.1DCk)
NEEE: FTEEE AN
B B/ e Z I\ A\
Wi %
(I55F/U£2/AUX)

KB T/

1
Na
51}] ﬁbﬁﬁ%ﬂ %%%é&

HERAT

ug/uss ——\ | {3
= EA N NS . (?/I//.zf/ G%’//()
AR N Wit S

<y g
C X e

AUXEI

7/20



aah# . Wuzhi Audio

BS: ZK-R502H

B 2.05ES0WX2M B B RE R TTET EMMEMAR

BV XY

TPA3116D2

BEOFhRAN

5:1

EMEA

EF+AUX+UE+USBE £

S

S E50W+4 5 E50W

BEECER:

DC9-24V, =>3A (ATJ{E3I7H)

& BC IR :

B

10-50W, 4-80Q

-

s

il

ZIeeied, 360EXERPE, FTEEFRIET.
B B/ EE R RN (BE5F/U&/AUX)
KEZ1®: F/RH ek AHEEAN

RIPALE :

iR, TR, K, PRI

eIk

F#Wuzhi Audio APP, BXIEFRFR, BHIRE, 1R
SERRET, F/XRRE, BRf, SRER+EENS
¥, UBERYIX, SEERI=ERT.

@R

81x81x34mm

: $E81g, BEX130g

8/20



RETEEREGEES

Jie £H 18

M2*382 %

PCB#R
M2*12§a4E

M2*3+ 3554

TEIR

9/20



8. APP iBER@E

APP iR ERMH

— BEF2WRERXLR

seamimess: WO | MAFEBEFER] > [RRER
4 Wuzhi Audio APP
idssnadui #l] >REEHER> [FHE
Bluetooth | Wuzhi Audio 9 %Hﬂ}é}‘-ﬁﬁﬁﬁ%ﬁ@ﬁiﬂ] N [?je
blugtoath code 1111 @ EIJ %ﬁﬁ%% mi%ﬁﬁﬁ]

Authenticity ' Verificatlioq

Beep Volume E?Eﬂiﬁﬁﬁ%

Indicator brightness Ti}\ﬁ—:

bees [(TABEFZEHBHFX] >EREIA
6/ 111

bluetooth code » Hiﬁ::

Shake and cut the song

[ITHEFERAX] > [BAE

{ Disconnect Device } ] - [SeEHRl] > E5H
MEBE-> [BUHER, BREE

LIRTREAS |

10/ 20



ZK-R502H 2.0 channel TPA3116D2
50Wx2 Treble-Bass BT audio power
amplifier

ZK-R502H

TPA3116D2 Treble-Bass BT

sow+s0W stereo | qudio amplifier

BT | AUX |USB Sound
5.1 | Input ! disk | card

HD sound quality

Cool indicator light

The shell needs to be
assembled by yourself

11/ 20



Catalogue

ZK-R502H 2.0 channel TPA3116D2 50Wx2 Treble-Bass

BT audio power amplifier..........cccccooceeeiiiee e 11
CatalogUE ..., 12
Product comparison table..........cccccooooiiiiiiiiiiiee 13
High end audio experience..........ccccoceeeiiiiiiiiiiie e, 14
Introduction to knob operation............ccccovvvveeeiieeeiiinnnee, 15
Product detailS..........ccooeviiiiiie e 16
Product functionsS .........ccooiiiiiii i 17
Product parameters.........ccoocuveeeeeiecciiieeeee e 18
Installation diagram............cccooeiiiiiii i 19
APP setting interface..........cccccoooiieiiiiicieccee e, 20

12/ 20



1. Product comparison table

Product comparison table

Model

R302

R502E

R502H

R21E

Picture |8

Zgatur— support Wuzhi Audio APP
Amplif-|  TPA Chinese TPA Chinese TPA
ier chip 3118 chip 3116D2 chip 3116D2
ﬁ‘gﬂf BT5.1+AUX+USB disk+USB sound card
Chann- Treble-bass adjustment 2.0 channels 2.1 channel with
els subwoofer
Power
output 30W+30W | 50W+50W | 50W+50W 50W+50W+100W
Power 9-24V/23A 9-24V/>7A
supply 9-24V/=3A | 9- > 9-24V/=23A | 9-24V/=TA | 9- >
L&R channel T5-50W,
speaker 10-50W | 10-50W | 10-50W | 4-80
4-80 4-80 4-80Q Subwoofer 30-100W,
4-80
multi-function knob, 360 degree stepless tuning, with
Volume volume level indication.
adjust-| Click: play / pause Double click: mode switch (BT, USB disk, AUX)
ment
Long press for 1 second: on/off Rotate: adjust volume
ProtecH Over temperature, over-current, short circuit, anti-static
tion protection
Size |81*81*34mm|81+81*34mm|81*81+*34mm|81+81+*37mm |81+81+37mm
Weight
(With 1269 127g 130g 129¢ 150g
package)

13/ 20




2.High end audio experience

High end audio experience

Volume level
indicator

\\‘
i om—— anmm—
D4 4T @00 SDeEDen TR AL S0l T 16] 2 1 O T RERS)
@ Weahi Andio AP e < Wozhi Audio APP
Volume indication is O
] i synchronized with app s (R ©
] ‘r:j Eq @ DE 5 ‘)) Aumhanticty Verification
3
o o = -
?& Classical S an Indicat htness
| e
‘;"'“ s 8 A App can set 8 levels of
- | Y| L= S brightness
I ens Indicator brightness Shelseci o hero
@ G @ Disconnect Device

Note: Plug free installation. The copper column is used as the connecting wire.
Try not to clamp the two copper columns by hand when adjusting the volume,
otherwise the normal display may be affected.

14/ 20



3.Introduction to knob operation

Introduction to knob operation

SOW+50W
ZK-R502H

L4
0

8 NODE
= o
" ] %l e%(’//"l‘ \

Long press: long press

ON/OFF to turn on / off

15/ 20



4 .Product details

Product details

LC filter circuit, HD restore

Original
TPA3116D2

16/ 20



5.Product functions

Function introduction

: . ‘ Power input
Rotate: adjust (5.5x2.1DC plug)

volume
Click: play / pause | | oft speaker | Right speaker
Double click:
mode switch

(BT, USB disk, AUX)
Long press for1
second: on/off

)
Multifunction Volume
50W+50 4
knob ZK—Rso;H - >
s QT level
Indicator
. AR\ 10,)
USB disk N | b
) Hiicts et )

/USB sound  \Qraals
card input N

< ¥dyy

Treble knob Bass knob

AUX input

17 /20



6.Product parameters

Product parameters

Brand: Wuzhi Audio

Model: ZK-R502H

Name: 2.0 channel 50Wx2 stereo BT audio power amplifier

Amplifier chip: TPA3116D2

BT version: 5.1

Audio input: BT+AUX+USB disk+USB sound card

Audio output: Left channel 50W + right channel 50W

Adaptive power supply: DC9-24V, =3A (Do not connect to AC)

Adaptive speaker: 10-50W, 4-8Q

Volume adjustment: multi-function knob, 360 degree stepless
tuning, with volume level indication.

Click: play / pause  Double click: mode switch (BT, USB flash disk, AUX)

Long press for 1 second: on/off Rotate: adjust volume

Protection mechanism: Over temperature, over-current, short
circuit, anti-static protection

. .. Support Wuzhi Audio APP. Modify BT name, password
Chara.\cterlstlc setting, prompt tone volume adjustment, on/off prompt
function: tone, lullaby, sound effect selection+custom sound effect,
USB flash disk playlist,volume indicator brightness
adjustment.

Size: 81x81x34mm

Product weight: Net weight 81g,Weight with package 130g

18/ 20



7. Installation diagram

Installation diagram

Knob
M2*3 screw

Upper cover board

Treble
knob

Bass
knob

— ; PCB
— o AGK=TH — ., :“; = : M2*12
copper pillar

M2*3+3
copper pillar

Lower cover board

(Kf 20x18x10mm heat sink
' ( Pasted on the power amplifier chip

19/ 20



8. APP setting interface

APP setting interface

BT name modification steps

O
[enter a new BT name] = [click
Sotd T Do eE - @ i e 1147 i
¢ Wouzhi Audio APP set button] = [system automatic

restart] = [cancel pairing of

Bluetooth Wuzhi Audio @3 i . o
mobile BT with the original BT

plustooth coce (KK name] - [find a new BThame

Authenticity | Verification | and re pair]

Beep Volume BT password setting steps
Method 1:

Indicator brightness

[turn on BT password switch] =
Use default password 1111

beep

—— = Method 2:
uetooth code .
[turn on BT password switch] =
Shake and cut the song » [enter password] = [click the
[ E——— l setting button] = [the system will

restart automatically] = [cancel
pairing, and you will be prompted

‘ to enter password when connecting

again]

20/ 20



